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1) f(x)=x"-2ax?

f7(x) = 4x* —4ax C P(t, t* —2at?)

y =(4t° —4at)(x—t) +t* - 2at®
C X

x* —2ax® = (4t3 —4at)(x—t) +t* - 2at?
x* —2ax® = (4t3 —4at)x—4t4 +4at® +t* - 2at”
X' —2ax* —(4t° - 4at) x+3t* - 2at* = 0
(x—t){x3 +tx2 + (—2a+t*)x -3t + 2at} =0
(x—t)z(x2 + 2tx + 3t —2a)=0

a,f  X+2x+3t°-2a=0 2

a+fB=-2t, af=3t>-2a

23 PQR Q, PR a<t<p

t-a)t-B)<0 - t*—(a+Pt+af <0



1) a+f=-2t,af =3t>-2a

a J3a

t? —(-2t)t+3t°-2a<0 - 6t°-2a<0 - t2<§ -

@B) L'=(B-a)*+(p" -2ap° —a’ +2aa?)’
= (B-a)t +{(F*~a*) (B +a?)-2a(f ~a?))

= (B-a)t +{(f*~a®)(B* +a’ ~2a))
=(f-a) +(B*-a’) (P’ +a’ - 2a)’
=(B-a)* {1+ (B+a)’ (B’ +a’ -2a)’}
(B-a)? = (a+ B)* —4af = (-2t)* —4(3t* - 2a) = -8t* +8a
a’+ f% =(a+ f) —2af = (-2t)* - 2(3t* - 2a) = -2t* +4a

L? = (-8t* +8a) {L+ (—2t)*(-2t* + 4a - 2a)?}
= (-8t” +8a) {1+ 4t* (-2t* + 2a)’ |

= —8(t? - ) {1+16t°(t* ~a)?}

(4) t*—a=s L* =g(s)
g(s) =—8s{1+16(s +a)s*}

= —8(5 +16s* +16as3)

0" (s) =-8(64s° + 48as’ +1)
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0" (s) = -8(64s° + 285" +1)

=—8(2s+1)(32s* —2s+1)
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